

## On the Series Expansion of the Ramanujan Cubic Continued Fraction

K.R.Vasuki, Abdulrawf A. A.Kahtan and G.Sharath

(Department of Studies in Mathematics, University of Mysore, Mysore 570006, India)

E-mail: vasuki\_kr@hotmail.com; raaofgahtan@yahoo.co.in; sharath\_gns@rediffmail.com

**Abstract:** If the Ramanujan cubic continued fraction (or its reciprocal) is expanded as a power series, the sign of the coefficients is periodic with period 3. We give the combinatorial interpretations for the coefficients from which the result follows immediate. We also derive some interesting identities involving coefficients.

**Key Words:** Ramanujan cubic continued fraction, Jacobi's triple product identity, partitions, color partitions.

**AMS(2010):** 11B65, 05A19

### §1. Introduction

As usual for any complex number  $a$ , we define

$$(a)_0 := 1,$$

$$(a)_n := (a; q)_n = \prod_{k=0}^{n-1} (1 - aq^k)$$

where  $q$  is any complex number with  $|q| < 1$ . We also define

$$(a)_\infty := (a; q)_\infty = \prod_{n=0}^{\infty} (1 - aq^n),$$

$$(a_1, a_2, a_3, \dots, a_n; q)_\infty := \prod_{i=1}^n (a_i; q)_\infty$$

and

$$(q^{r\pm}; q^s)_\infty := (q^r, q^{s-r}; q^s)_\infty,$$

where  $s$  and  $r$  are positive integers with  $r < s$ . One of the most celebrated  $q$ -series identity is the following Jacobi's triple product identity:

$$\sum_{n=-\infty}^{\infty} q^{n^2} z^n = \left( \frac{-q}{z}; q^2 \right)_\infty (-qz; q^2)_\infty (q^2; q^2)_\infty, \quad |z| < 1. \quad (1.1)$$

---

<sup>1</sup>Received June 25, 2011. Accepted November 30, 2011.

Ramanujan [13], [6] expressed the above identity in the following form:

$$\begin{aligned} f(a, b) &:= \sum_{n=-\infty}^{\infty} a^{\frac{n(n+1)}{2}} b^{\frac{n(n-1)}{2}} \\ &= (-a; ab)_{\infty} (-b; ab)_{\infty} (ab; ab)_{\infty}, \quad |ab| < 1. \end{aligned} \quad (1.2)$$

Further, Ramanujan defined the following particular case of  $f(a, b)$ :

$$\varphi(q) := f(q, q) = \sum_{n=-\infty}^{\infty} q^{n^2} = (-q; q^2)_{\infty}^2 (q^2; q^2)_{\infty}, \quad (1.3)$$

$$\psi(q) := f(q, q^3) = \sum_{n=0}^{\infty} q^{\frac{n(n+1)}{2}} = \frac{(q^2; q^2)_{\infty}}{(q; q^2)_{\infty}} \quad (1.4)$$

and

$$f(-q) := f(-q, -q^2) = \sum_{n=-\infty}^{\infty} (-1)^n q^{\frac{n(3n-1)}{2}} = (q; q)_{\infty}.$$

Ramanujan also define

$$\chi(q) := (-q; q^2)_{\infty}.$$

The famous Rogers-Ramanujan continued fraction is defined as

$$R(q) := 1 + \frac{q}{1 + \frac{q^2}{1 + \frac{q^3}{1 + \dots}}}.$$

B. Richmond and G. Szekeres [15] examined asymptotically the power series co-efficients of  $R(q)$ , in particular if

$$R(q) := \sum_{n=0}^{\infty} r_n q^n,$$

they have proved that for  $n$  sufficiently large

$$r_{5n}, r_{5n+1} > 0$$

and

$$r_{5n+2}, r_{5n+3}, r_{5n+4} < 0.$$

A similar result was also shown for the coefficients of  $R^{-1}(q)$ . In examining Ramanujan's lost notebook, G. E. Andrews discovered some relevant formulae. He [4] then established a combinatorial interpretation of these formulae. M. D. Hirschhorn [11] later gave a simple proofs of these identities using only quintuple product identity.

On page 229 of his notebook [12], Ramanujan recorded interesting continued fraction  $H(q)$  defined by

$$\begin{aligned} H(q) &:= \frac{1}{1+q} + \frac{q^2}{1+q^3} + \frac{q^4}{1+q^5} + \dots \\ &= \frac{f(-q, -q^7)}{f(-q^3, -q^5)}. \end{aligned} \quad (1.5)$$

Without any knowledge of Ramanujan's work, Gordon [9] and Göllnitz [10] rediscovered and proved (1.5). Richmond and Szekeres [15], Andrews and D. M. Bressoud [5], K. Alladi and B. Gordon [1], Hirschhorn [12], and S- D. Chen and S- S. Huang [8] have studied the periodicity of signs of Taylor series coefficients of the expansion of  $H(q)$ .

Recently S. H. Chan and H. Yesilyurt [7] shown the periodicity of large number of quotients of certain infinite products. For example, they have deduced Corollary 2.2 below from their general result.

On page 366 of his lost notebook [14] Ramanujan investigated another beautiful continued fraction  $G(q)$  defined by

$$\begin{aligned} G(q) : &= \frac{1}{1 + \frac{q+q^2}{1} + \frac{q^2+q^4}{1} + \frac{q^3+q^6}{1} + \dots} \\ &= \frac{f(-q, -q^5)}{f(-q^3, -q^3)} \end{aligned}$$

and claimed that there are many results of  $G(q)$  which are analogous to results of  $R(q)$ . Motivated by Ramanujan's claim and the above mentioned works on  $R(q)$  and  $H(q)$ , in this paper, we give the combinatorial interpretation of the co-efficient in the series expansion of  $G(q)$  and its reciprocal.

We conclude this introduction by letting

$$G(q) = \sum_{n=0}^{\infty} a_n q^n \quad (1.6)$$

and

$$M(q) = \frac{1}{G(q)} = \sum_{n=0}^{\infty} b_n q^n. \quad (1.7)$$

## §2. Combinatorial Interpretations of $a_n$ and $b_n$

**Lemma 2.1** *We have*

$$G(q) = \frac{1}{\varphi(-q^3)} \sum_{n=-\infty}^{\infty} (-1)^n q^{3n^2+2n}. \quad (2.1)$$

*Proof* We have [6, p. 345]

$$2G(q) = \frac{q^{-\frac{1}{3}}}{\varphi(-q^3)} \left[ \varphi(-q^3) - \varphi(-q^{\frac{1}{3}}) \right].$$

Upon using (1.3) in the above, we obtain

$$2G(q) = \frac{1}{q^{\frac{1}{3}} \varphi(-q^3)} \left[ \sum_{n=-\infty}^{\infty} (-1)^n q^{3n^2} - \sum_{n=-\infty}^{\infty} (-1)^n q^{\frac{n^2}{3}} \right]$$

Converting the second series in the right hand side of the above into sum of three series, we deduce that

$$2G(q) = \frac{1}{\varphi(-q^3)} \left[ \sum_{n=-\infty}^{\infty} (-1)^n q^{3n^2+2n} - \sum_{n=-\infty}^{\infty} (-1)^n q^{3n^2+4n+1} \right].$$

Now replacing  $n$  by  $-(n+1)$  in the second series, we obtain

$$G(q) = \frac{1}{\varphi(-q^3)} \sum_{n=-\infty}^{\infty} (-1)^n q^{3n^2+2n}. \quad \square$$

**Theorem 2.1** *Let  $a_n$  be as defined in (1.6). Then*

$$\sum_{n=0}^{\infty} a_{3n} q^n = \frac{1}{(q; q^2)_{\infty} (q; q)_{\infty}} \sum_{n=-\infty}^{\infty} (-1)^n q^{9n^2+2n}, \quad (2.2)$$

$$\sum_{n=0}^{\infty} a_{3n+1} q^n = \frac{-1}{(q; q^2)_{\infty} (q; q)_{\infty}} \sum_{n=-\infty}^{\infty} (-1)^n q^{9n^2+4n} \quad (2.3)$$

and

$$\sum_{n=0}^{\infty} a_{3n+2} q^n = \frac{-q}{(q; q^2)_{\infty} (q; q)_{\infty}} \sum_{n=-\infty}^{\infty} (-1)^n q^{9n^2+8n}. \quad (2.4)$$

*Proof* Recall that the operator  $U_3$  [3, p. 161], operating on a power series (1.6) is defined by

$$U_3 G(q) := \sum_{n=0}^{\infty} a_{3n} q^n = \frac{1}{3} \sum_{j=0}^2 G(t^j q^{\frac{1}{3}}),$$

where  $t = e^{\frac{2\pi i}{3}}$ . Hence for  $0 \leq k \leq 2$ , by Lemma 2.1, we have

$$\begin{aligned} \sum_{n=0}^{\infty} a_{3n+k} q^n &= U_3 [q^{-k} G(q)] \\ &= \frac{1}{3} \sum_{j=0}^2 (t^j q^{\frac{1}{3}})^{-k} G(t^j q^{\frac{1}{3}}) \\ &= \frac{1}{3\varphi(-q)} \sum_{n=-\infty}^{\infty} (-1)^n \sum_{j=0}^2 t^{(3n^2+2n-k)j} q^{\frac{3n^2+2n-k}{3}}. \end{aligned}$$

Now  $3n^2 + 2n - k \equiv 0 \pmod{3}$  for  $2n \equiv k \pmod{3}$ . It therefore follows from the above, that

$$\begin{aligned} \sum_{n=0}^{\infty} a_{3n+k} q^n &= \frac{1}{\varphi(-q)} \sum_{n=-\infty}^{\infty} (-1)^n q^{\frac{3(6n+4k)^2+4(6n+4k)-4k}{12}} \\ &= \frac{1}{\varphi(-q)} \sum_{n=-\infty}^{\infty} (-1)^n q^{9n^2+12nk+2n+4k^2+k}. \end{aligned} \quad (2.5)$$

$\square$

The identities (2.2)-(2.4) now follows by setting  $k = 0, 1, 2$  respectively in (2.5). In the case (2.3) the index of the summation needs to be changed by replacing  $n$  by  $n - 1$  and then  $n$  to  $-n$ , in the case (2.4) the index of the summation need to be changed  $n$  by  $n - 1$ .

**Theorem 2.2** *Let  $P_s(n)$  denote the number of partitions of  $n$  with parts not congruent to 0 (mod 18) and each odd parts having two colours except parts congruent to  $\pm s \equiv (\text{mod } 18)$ . Then*

$$a_{3n} = P_7(n), \quad (2.6)$$

$$a_{3n+1} = -P_5(n) \quad (2.7)$$

and

$$a_{3n+2} = -P_1(n - 1). \quad (2.8)$$

*Proof* From (1.1), we have

$$\sum_{n=-\infty}^{\infty} (-1)^n q^{9n^2} z^n = \left( \frac{q^9}{z}; q^{18} \right)_{\infty} (zq^9; q^{18})_{\infty} (q^{18}; q^{18})_{\infty}. \quad (2.9)$$

Using (2.9) with  $z = q^2$  in (2.2), we have

$$\sum_{n=0}^{\infty} a_{3n} q^n = \frac{(q^7, q^{11}, q^{18}; q^{18})_{\infty}}{(q; q^2)_{\infty} (q; q)_{\infty}}.$$

Clearly right side of the above identity is the generating function for  $P_7(n)$ . Thus, we have

$$\sum_{n=0}^{\infty} a_{3n} q^n = \sum_{n=0}^{\infty} P_7(n) q^n,$$

which implies (2.6). Similarly by taking  $z = q^4$  and  $z = q^8$  in (2.9), using them in (2.3) and (2.4), we obtain (2.7) and (2.8) respectively.  $\square$

**Example 2.1** By using Maple we have been able to find the following series expansion for  $G(q)$

$$\begin{aligned} G(q) = & 1 - q + 2q^3 - 2q^4 - q^5 + 4q^6 - 4q^7 - q^8 + 8q^9 - 8q^{10} - 2q^{11} \\ & + 14q^{12} - 14q^{13} - 4q^{14} + 24q^{15} - 23q^{16} - 6q^{17} + 40q^{18} - 38q^{19} \\ & - 10q^{20} + 63q^{21} - 60q^{22} - 16q^{23} + 98q^{24} - 92q^{25} - 24q^{26} + 150q^{27} \\ & - 140q^{128} - 36q^{29} + 224q^{30} + \dots \end{aligned}$$

The following table verifies the case  $n = 4$  in the Theorem 2.2.

$P_7(4)=14$ $= a_{12}$	$P_5(4) = +14$ $= -a_{13}$	$p_1(3) = 4$ $= -a_{14}$
$4=3_r + 1_r=3_r + 1_g=3_g + 1_g=$ $3_g + 1_r=2+2=2 + 1_r + 1_r=$ $2 + 1_r + 1_g=2 + 1_g + 1_g=$ $1_r + 1_r + 1_r + 1_r=1_r + 1_r + 1_r + 1_g=$ $1_r + 1_r + 1_g + 1_g=1_r + 1_g + 1_g$ $+1_g = 1_g + 1_g + 1_g + 1_g$	$4=3_r + 1_r=3_r + 1_g=3_g + 1_g=$ $3_g + 1_r=2+2=2 + 1_r + 1_r=$ $2 + 1_r + 1_g=2 + 1_g + 1_g=$ $1_r + 1_r + 1_r + 1_r=1_r + 1_r + 1_r$ $+1_g = 1_r + 1_r + 1_g + 1_g=1_r + 1_g$ $+1_g + 1_g=1_g + 1_g + 1_g + 1_g.$	$3_r=3_g = 2 + 1$ $=1+1+1$

**Corollary 2.1** With  $a_n$  given by (1.8),  $a_2 = 0$ . The remaining  $a_n$  satisfy, for  $n \geq 0$ ,

$$a_{3n} > 0, a_{3n+1} < 0, a_{3n+2} \leq 0.$$

*Proof* This follows directly from Theorem 2.2. □

**Lemma 2.2** We have

$$M(q) = \frac{1}{\psi(q^3)} \left[ \sum_{n=-\infty}^{\infty} q^{6n^2-n} + \sum_{n=-\infty}^{\infty} q^{6n^2-5n+1} \right]. \quad (2.10)$$

*Proof* We have [6, p. 345]

$$\frac{1}{G(q)} = \frac{1}{\psi(q^3)} \left[ \psi(q^{1/3}) - q^{1/3} \psi(q^3) \right]$$

Upon using (1.4) in the above, we obtain

$$M(q) = \frac{1}{\psi(q^3)} \left[ \sum_{n=-\infty}^{\infty} q^{\frac{2n^2-n}{3}} - \sum_{n=-\infty}^{\infty} q^{\frac{18n^2-9n+1}{3}} \right].$$

Converting the first series in the right hand side of the above into sum of three series and replacing  $n$  by  $-n$  in the second series, we obtain

$$M(q) = \frac{1}{\psi(q^3)} \left[ \sum_{n=-\infty}^{\infty} q^{6n^2-n} + \sum_{n=-\infty}^{\infty} q^{6n^2-5n+1} \right]. \quad \square$$

**Theorem 2.3** Let  $b_n$  be as defined in (1.7). Then

$$\sum_{n=0}^{\infty} b_{3n} q^n = \frac{(q; q)_{\infty}}{(q^2; q^2)_{\infty}^2} \left[ \sum_{n=-\infty}^{\infty} q^{18n^2+n} + q^4 \sum_{n=-\infty}^{\infty} q^{18n^2+17n} \right], \quad (2.11)$$

$$\sum_{n=0}^{\infty} b_{3n+1} q^n = \frac{(q; q)_{\infty}}{(q^2; q^2)_{\infty}^2} \left[ \sum_{n=-\infty}^{\infty} q^{18n^2+5n} + q^2 \sum_{n=-\infty}^{\infty} q^{18n^2+13n} \right] \quad (2.12)$$

and

$$\sum_{n=0}^{\infty} b_{3n+2} q^n = \frac{(q; q)_{\infty}}{(q^2; q^2)_{\infty}^2} \left[ \sum_{n=-\infty}^{\infty} q^{18n^2+7n} + q \sum_{n=-\infty}^{\infty} q^{18n^2+11n} \right]. \quad (2.13)$$

*Proof* Following similar steps used in the proof of Theorem 2.1, for (2.10) we have for  $0 \leq k \leq 2$ ,

$$\sum_{n=0}^{\infty} b_{3n+k} q^n = \frac{1}{3} \frac{1}{\psi(q)} \sum_{j=0}^2 \left[ \sum_{n=-\infty}^{\infty} t^{(6n^2-n-k)j} q^{\frac{6n^2-n-k}{3}} + \sum_{n=-\infty}^{\infty} t^{(6n^2-5n+1-k)j} q^{\frac{6n^2-5n+1-k}{3}} \right].$$

Now  $6n^2 - n - k \equiv 0 \pmod{3}$  for  $n \equiv -k \pmod{3}$ . And for the second summation  $6n^2 - 5n + 1 - k \equiv 0 \pmod{3}$  for  $2n \equiv 1 - k \pmod{3}$ . It therefore follows from the above that

$$\begin{aligned} \sum_{n=0}^{\infty} b_{3n+k} q^n &= \frac{1}{\psi(q)} \left[ \sum_{n=-\infty}^{\infty} q^{\frac{6(3n-k)^2 - (3n-k) - k}{3}} + \sum_{n=-\infty}^{\infty} q^{\frac{6(6n-4k+4)^2 - 10(6n-4k+4) + 4 - 4k}{12}} \right] \\ &= \frac{1}{\psi(q)} \left[ \sum_{n=-\infty}^{\infty} q^{18n^2-12nk-n+2k^2} + \sum_{n=-\infty}^{\infty} q^{18n^2-24nk+19n+8k^2-13k+5} \right]. \end{aligned} \quad (2.14)$$

□

The identities (2.11)- (2.13) now follow by setting  $k = 0, 1, 2$  respectively in (2.14). In the case (2.11) the index of the summation needs to be changed by replacing  $n$  to  $-n$  in the first summation and in the second summation by  $n$  to  $n+1$  and then by replacing  $n$  to  $-n$ . For the case (2.12), the index of the summation in the second summation is to be changed by replacing  $n$  to  $-n$ . In the case (2.13) the index of the summation in the first and second series are to be changed by replacing  $n$  to  $n+1$ .

**Theorem 2.4** *Let  $P_s(n)$  denote the number of partitions of  $n$  into part such that odd parts are not congruent to  $\pm s \pmod{36}$  and the even part congruent to  $\pm 4, \pm 8, \pm 12, \pm 16 \pmod{36}$ . Then*

$$b_{3n} = (-1)^n [P_{17}(n) + P_1(n-4)], \quad (2.15)$$

$$b_{3n+1} = (-1)^n [P_{13}(n) + P_5(n-2)] \quad (2.16)$$

and

$$b_{3n+2} = (-1)^n [P_{11}(n) - P_7(n-1)]. \quad (2.17)$$

*Proof* It is easy to see that

$$\frac{(-q; -q)_{\infty}}{(q^2; q^2)_{\infty}^2} = \frac{1}{(q; q^2)_{\infty} (q^4; q^4)_{\infty}}, \quad (2.18)$$

Replacing  $q$  to  $q^2$  in (2.9) and then setting  $z = -q, z = -q^{17}, -q^5, -q^{13}, -q^7, -q^{11}$  respectively, we obtain

$$\sum_{n=-\infty}^{\infty} (-1)^n q^{18n^2+n} = (q^{17\pm}, q^{36}; q^{36})_{\infty},$$

$$\sum_{n=-\infty}^{\infty} (-1)^n q^{18n^2+17n} = (q^{1\pm}, q^{36}; q^{36})_{\infty},$$

$$\sum_{n=-\infty}^{\infty} (-1)^n q^{18n^2+5n} = (q^{13\pm}, q^{36}; q^{36})_{\infty},$$

$$\sum_{n=-\infty}^{\infty} (-1)^n q^{18n^2+13n} = (q^{5\pm}, q^{36}; q^{36})_{\infty},$$

$$\sum_{n=-\infty}^{\infty} (-1)^n q^{18n^2+7n} = (q^{11\pm}, q^{36}; q^{36})_{\infty}$$

and

$$\sum_{n=-\infty}^{\infty} (-1)^n q^{18n^2+11n} = (q^{7\pm}, q^{36}; q^{36})_{\infty}.$$

Now changing  $q$  to  $-q$  in (2.11), (2.12) and (2.13) and then using (2.18) and the above, we deduce that

$$\sum_{n=0}^{\infty} (-1)^n b_{3n} q^n = \frac{(q^{17\pm}, q^{36}; q^{36})_{\infty} + q^4 (q^{1\pm}, q^{36}; q^{36})_{\infty}}{(q; q^2)_{\infty} (q^4; q^4)_{\infty}}, \quad (2.19)$$

$$\sum_{n=0}^{\infty} (-1)^n b_{3n+1} q^n = \frac{(q^{13\pm}, q^{36}; q^{36})_{\infty} + q^2 (q^{5\pm}, q^{36}; q^{36})_{\infty}}{(q; q^2)_{\infty} (q^4; q^4)_{\infty}} \quad (2.20)$$

and

$$\sum_{n=0}^{\infty} (-1)^n b_{3n+2} q^n = \frac{(q^{11\pm}, q^{36}; q^{36})_{\infty} - q (q^{7\pm}, q^{36}; q^{36})_{\infty}}{(q; q^2)_{\infty} (q^4; q^4)_{\infty}}. \quad (2.21)$$

Now (2.15), (2.16) and (2.17) follow from (2.19), (2.20) and (2.21) respectively.  $\square$

**Example 2.2** By using Maple we have been able to find the following series expansion for  $M(q)$ :

$$\begin{aligned} M(q) = & 1 + q + q^2 - q^3 - q^4 + q^6 + 2q^7 - 2q^9 - 3q^{10} - q^{11} + 4q^{12} + 4q^{13} + q^{14} \\ & - 4q^{15} - 6q^{16} - q^{17} + 5q^{18} + 8q^{19} + q^{20} - 8q^{21} - 10q^{22} - 2q^{23} + 11q^{24} \\ & + 14q^{25} + 4q^{26} - 14q^{27} - 19q^{28} - 4q^{29} + 17q^{30} \dots \end{aligned}$$

The following table verifies the case  $n = 5$  in Theorem 2.4:

$(-1)^5[P_{17}(5) + P_1(1)]$ $= -4 = a_{15}$		$(-1)^5[P_{13}(5) + P_5(3)]$ $= -6 = a_{16}$		$(-1)^5[P_{11}(5) - P_7(4)]$ $= -1 = a_{17}$	
$P_{17}(5)$	$P_1(1)$	$P_{13}(5)$	$P_5(3)$	$P_{11}(5)$	$P_7(4)$
5		5	3	5	4
=4+1		=4+1	=1+1+1	=4+1	=3+1
=3+1+1		=3+1+1		=3+1+1	=1+1+1+1
=1+1+1+1+1		1+1+1+1+1		=1+1+1+1+1	



**Corollary 2.2**([7]) *With  $b_n$  given by (1.7),  $b_5 = 0$  and  $b_8 = 0$ . The remaining  $b_n$  satisfy for  $n \geq 0$ ,*

$$\begin{aligned} b_{6n} &> 0, & b_{6n+1} &> 0, & b_{6n+2} &> 0 \\ b_{6n+3} &< 0, & b_{6n+4} &< 0, & b_{6n+5} &< 0. \end{aligned}$$

*Proof* The result clearly follows from Theorem 2.4.  $\square$

### §3. Further Identities of $G(q)$ and $M(q)$

Following the notation in [17], we define

$$\begin{aligned} L(q) &:= \sum_{n=0}^{\infty} \frac{q^{n^2+2n}(-q; q^2)_n}{(q^4; q^4)_n} \\ &= \frac{f(-q, -q^5)}{\psi(-q)} \end{aligned} \quad (3.1)$$

and

$$\begin{aligned} N(q) &:= \sum_{n=0}^{\infty} \frac{q^{n^2}(-q; q^2)_n}{(q^4; q^4)_n} \\ &= \frac{f(-q^3, -q^3)}{\psi(-q)}. \end{aligned} \quad (3.2)$$

The two identities on the right of (3.1) and (3.2) are the cubic identities due to G. E. Andrews [2] and L. J. Slater [16] respectively. Andrews [2] shown that

$$q^{1/3}G(q) = q^{1/3} \frac{L(q)}{N(q)}. \quad (3.3)$$

We note that

$$L(q) = \frac{f_6^2}{f_3 f_4}, \quad N(q) = \frac{f_3^2 f_2}{f_1 f_4 f_6}$$

and

$$f(q) = \frac{f_2^3}{f_1 f_4} \quad (3.4)$$

where  $f_n := (q^n; q^n)_{\infty}$ .

**Lemma 3.1**([17]) *We have*

$$L(-q)N(q) - L(q)N(-q) = 2q \frac{f_2 f_{12}^4}{f_4^3 f_6^2} \quad (3.5)$$

and

$$L(-q)N(q) + L(q)N(-q) = 2 \frac{f_4}{f_2}. \quad (3.6)$$

**Theorem 3.1** *We have*

$$\sum_{n=0}^{\infty} a_{2n} q^n = \frac{(q^2, q^4, q^6; q^6)_{\infty}^2}{(q^3, q^3, q^6; q^6)_{\infty}^2} = \frac{\left[ \sum_{n=-\infty}^{\infty} (-1)^n q^{3n^2-2n} \right]^2}{\left[ \sum_{n=-\infty}^{\infty} (-1)^n q^{3n^2} \right]^2}, \quad (3.7)$$

$$\sum_{n=0}^{\infty} a_{2n+1} q^n = \frac{(q, q^5, q^6; q^6)_{\infty}^2}{(q^3, q^3, q^6; q^6)_{\infty}^2} = \frac{\left[ \sum_{n=-\infty}^{\infty} (-1)^n q^{3n^2-2n} \right]^2}{\left[ \sum_{n=-\infty}^{\infty} (-1)^n q^{3n^2} \right]^2}, \quad (3.8)$$

$$\sum_{n=0}^{\infty} b_{2n} q^n = \frac{(q^2, q^4, q^6; q^6)_{\infty}^2}{(q, q^3, q^3, q^5, q^6, q^6; q^6)_{\infty}} = \frac{\left[ \sum_{n=-\infty}^{\infty} (-1)^n q^{3n^2-2n} \right]^2}{\left[ \sum_{n=-\infty}^{\infty} (-1)^n q^{3n^2-2n} \right] \left[ \sum_{n=-\infty}^{\infty} (-1)^n q^{3n^2} \right]} \quad (3.9)$$

and

$$\sum_{n=0}^{\infty} b_{2n+1} q^n = \frac{(q, q^5, q^6; q^6)_{\infty}}{(q^3, q^3, q^6; q^6)_{\infty}} = \frac{\sum_{n=-\infty}^{\infty} (-1)^n q^{3n^2-2n}}{\sum_{n=-\infty}^{\infty} (-1)^n q^{3n^2}}. \quad (3.10)$$

*Proof* We have

$$\begin{aligned} \sum_{n=0}^{\infty} a_{2n} q^{2n} &= \frac{1}{2} [G(q) + G(-q)] = \frac{1}{2} \left[ \frac{L(q)}{N(q)} + \frac{L(-q)}{M(-q)} \right] \\ &= \frac{1}{2} \frac{L(q)M(-q) + L(-q)N(q)}{N(q)M(-q)}, \end{aligned}$$

which on employing (3.6) and (3.4) yields

$$\sum_{n=0}^{\infty} a_{2n} q^{2n} = \frac{(q^4, q^8, q^{12}; q^{12})_{\infty}^2}{(q^6, q^6, q^{12}; q^{12})_{\infty}^2}.$$

Changing  $q$  to  $q^{1/2}$  in the above, we obtain the first equality of (3.7). The second equality follows by appealing to (1.1). Similarly, we have

$$\begin{aligned} \sum_{n=0}^{\infty} a_{2n+1} q^{2n} &= \frac{1}{2q} [G(q) - G(-q)] = \frac{1}{2q} \left[ \frac{L(q)}{N(q)} - \frac{L(-q)}{M(-q)} \right] \\ &= \frac{1}{2q} \frac{L(q)M(-q) - L(-q)N(q)}{N(q)M(-q)}. \end{aligned}$$

Now employing (3.5), (3.4) and (1.1) gives

$$\sum_{n=0}^{\infty} a_{2n+1} q^{2n} = -\frac{(q^2, q^{10}, q^{12}; q^{12})_{\infty}^2}{(q^6, q^6, q^{12}; q^{12})_{\infty}^2}.$$

The first equality in result (3.8) now follows by changing  $q$  to  $q^{1/2}$  in the above and the second equality follows by employing (1.1). By similar arguments, one can derive (3.9) and (3.10).  $\square$

**Theorem 3.2** For  $|q| < 1$

$$\frac{\sum_{n=0}^{\infty} a_{2n} q^n}{\sum_{n=0}^{\infty} a_{2n+1} q^n} = - \frac{\sum_{n=0}^{\infty} b_{2n} q^n}{\sum_{n=0}^{\infty} b_{2n+1} q^n}.$$

*Proof* Follows from Theorem 3.1.  $\square$

## Acknowledgement

The first and third authors are thankful to DST, New Delhi for awarding research project [No. SR/S4/MS:517/08] under which this work has been done. The second author work is supported by Ministry of Higher Education, Yemen.

## References

- [1] K. Alladi and B. Gordon, Vanishing coefficients in the expansion of products of Rogers-Ramanujan type, The Rademacher legacy to Mathematics, *Contemp. Math.*, 166(1994), 129-139.
- [2] G. E. Andrews, An Introduction to Ramanujan's "lost" Notebook, *Amer. Math. Monthly*, 86(1979), 89-108.
- [3] G. E. Andrews, *The Theory of Partitions*, Addison- Wesley, Reading, MA, 1976.
- [4] G. E. Andrews, "Ramanujan "lost" Notebook. Part III. The Rogers - Ramanujan continued fraction, *Adv. Math.*, 41(1981), 186-208.
- [5] G. E. Andrews and D. M. Bressoud, Vanishing coefficients in infinite product expansions, *J. Austral. Math. Soc. (series A)*, 27(1979), 199-202.
- [6] B. C. Berndt, "*Ramanujan Notebooks. Part III*", Springer-Verlag. NewYork, 1991.
- [7] S.H.Chan and H.Yesilyurt, The periodicity of the signs of the co-efficients of certian infinite product, *Pacific J. Math.*, 225(2006), 12-32.
- [8] S-D. Chen and S- S. Huang, On the series expansion of the Göllnitz- Gordon continued fractions, *International J. of Number Theory*, 1(1)(2005), 53-63.
- [9] H. Gordon, A continued fraction of the Rogers- Ramanujan type, *Duke Math. J.*, 32(1965), 741-748.
- [10] H.Göllnitz, A partition mit Diffrenzebedingungen, *J. Reine Angew. Math.*, 25(1967), 154-190.
- [11] M.D.Hirschhorn, On the expansion of Ramanujan's continued fraction, *The Ramanujan J.*, 2(1998), 521- 527.

- [12] M.D.Hirschhorn, On the expansion of continued fraction of Gordon, *The Ramanujan J.*, 5(2001), 369- 375.
- [13] S.Ramanujan, “*Notebooks (2 volumes)*”, Tata Institute of fundamental Research, Bombay, 1957.
- [14] S.Ramanujan, *The lost Notebook and other unpublished papers*, Narosa, New Delhi, 1988.
- [15] B.Richmond and G. Szekeres, The Taylor coefficients of certian infinite products, *Acta Sci. Math.(szeged)*, 40(1978), 349-369.
- [16] L.J.Slater, Further identities of the Rogers- Ramanujan type, *Proc. London. Math. Soc.*, 54(1952), 147-167.
- [17] K.R.Vasuki, G.Sharath and K.R.Rajanna, Two modular equations for squares of the cubic functions with applications, *Note di Mathematica* (to appear).